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3. Sketch the region in the first quadrant that is inside r 343 cosf and outside
r =3+ 3sinf, and find its area.

P y=3+3f05c9% =9

2050 25750 + €528 dI

o U NeH

T
& T 9 (2smlt 260 +_s,‘qg>]o‘*
2
B z RS 1 ) )
[nter s fion ;@3&'«97!13 cosO %(1 z y %+
S0 _ |
/ b =
tan®=(
I (975
PR . 2 %
2 i Q43 ca0) - (343s48) 8
°d ; ) 4O
9 g ( +J~(059+(Q51<9)‘(H’2$/4c9+5m
L ©
4. Let f(x) = e%' Where is f(z) increasing, decreasing, concave up, and

concave down? Find all local extreme points of y = f(z) and all points of
inflection of y = f(z). Graph y = f(z).
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